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OUTKE LK NV: 134789 INBRELKAV: 101214151618
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HEARE DS k7 43 42 85 12.0 73.0 ANE

3 fir I 6 39 39 78 3.6 74 4 BG AE

4 fir 1T el 48 41 89 14.4 74.6

5z N 53 42 95 20.4 74.6 N1

6 fi B REZ 42 45 87 12.0 75.0

7 47 HH: W E 44 42 86 10.8 75.2 N1

8 iz e 1B 45 46 91 15.6 754

9 fir BA K 53 47 100 22.8 772

10 iz 1) B iEE 54 44 98 20.4 77.6 ANE

11 {7 R R— 56 49 105 26.4 78.6

12 iz R % 58 52 110 31.2 78.8

13 fif LR I 54 47 101 21.6 794

14 {7 JAFH: ] 55 52 107 27.6 79.4 BBH

15 fr g K 51 49 100 192 80.8 BME




